< 00, > (M)

<opyp, > ()

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

....................................

iy
TTTT[TTTT

. + .
B 0 R
-+ HEE 4 '

47+ .

1

2 3
TPlpoT (PCA t%obeamlinélf)

C -+

E o] o g 0 ] 0 000
r 5 -+

r + - :"'

L - P

< dcotl>)
o
=
a1

........................................

........................................

1

—=— DQM_CKF_TTbase
—— DQM_mkFit_TTbhase

100r

®
o
I

o
=]
I

N
o
I

20~

3
+

ok
=

e 3

..........................

1

9 h AT ]
T3 F ;
B <+
Eoooeeee- AT
o 4 1 Tl
rC . -
05 """ """"" =" b el
E 4+

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

<od,> (um)
[o})
7

EEES FLLOC L L S OO )

1

Rt ST oo SRRRIERE

-

2 3
! TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


